Technische Anderungen vorbehalten, alle Angaben ohne Gewihr / Subject to technical modifications; no responsibility is accepted for the accuracy of this information. ~ © EUCHNER GmbH + Co. KG IE[ *@ MaRe in mm / Dimensions in mm

2154712-2-15.08.24 - ER - KJ - OE Blatt/sheet 1/1

Datenblatt / Data Sheet MGB2-L1HECB-PN-U-S4-GE-.-

EUCHNER

R 2
S | e
of & 8 Jo
stoti—{ | % [ —~sLom2
=
O
=
SLOT2 SLOT1
.
(-] e ® o o
]
y D10
& s 8
& (@ ———)
0]
= OIOE
= L
) ° l o I
X1—]
2 - --aseEes
m LN 3
s XD1/XD2 7/8" Power
XF1/XF2 M12 D-coded
Q o (IEC 61076-2-101)
XF1 PN1 XD1 DC24V
XF2 PN2 @ XD2 DC24V
M6

inklusive Funktionserde

Inklusive:

- Erd|

ungsschraube M6x8

(AC-FE-GS-M6X8-170020)

Including:
- Grounding screw M6x8
(AC-FE-GS-M6X8-170020)

Betriebsanleitung beachten

(bei Abweichungen zwischen Datenblatt und
Betriebsanleitung gelten die Daten des Datenblattes)
Please observe the operating instructions
(in case of disagreement between data sheet and
operating instructions, the information of the

data sheet are to be considered)

~SLOT2
SLOT2

DUQQ@DDM.@@I

Montagematerial . ) ) ) ) : .
assembly material for i T| :F|o o . o] :F|o o T ; u
functional earth included 8 |29129|3-|35| 2 |29(29 |32 35| @ z a :
=3 =0 =0 2 < (S() X | = =2 | =2 5() X 2 I3 = = = E
MGB2-L1HECB-PN-U-84-GE-R-173242 | 136776 |173215|173218157024| 157025 |164241| 137596 | 126372|157024|161345| 173234 | 169765 | 106051 | 156680
MGB2-L1HECB-PN-U-84-GE-L-173244 | 136776 [173215|173218| 157025157024 |164241|137596| 126372157024 |161345| 173237 | 169765 | 106051 | 156680
Ubersicht der Kommunikationsdaten:
Overview of the communication data:
Input
Ethernet” standard Bit 7 Bit6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
1st Byte | BMEG | - [ BM_ESYS | - [ - [ BMEML2 | BM_E_ML1 \ BM_D_RUN |
| 2nd Byte | Diagnose Byte (pluggable) |
Ethernet” standard Bit 7 Bit6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
1st Byte IMIEG [ LMI_EER [ LMIE_SM1 | LM1_E_SMO [ - [ MUK ] LM1_I_SK \ LM1_D_RUN
2nd Byte - \ - - \ - | - | oL | LM1_I_OT \ LM1_1_0D
3rd Byte Diagnose Byte (pluggable)
Ethernet” standard Bit 7 Bit6 Bit5 Bit4 Bit 3 Bit 2 Bit 1 Bit 0
1st Byte \ - \ - - \ - [ - [ Lm1_SM1__s3 | - [ Lmi_SM1_1s1 |
Ethernet" standard Bit 7 Bit6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
\ 1st Byte \ - \ - [ Lm1_SM2_E 31 | - [ - [ LM1_SM2_|_S3 | - [ Lmi_SM21s1 |
| 2nd Byte | Diagnose Byte (pluggable) |
Ethernet” standard Bit 7 Bit 6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
1st Byte [ EMIEG | - [ - \ EM1_E_SM1 [ EM1_E_SMO \ - | - [ EMIDRIN |
\ 2nd Byte \ Diagnose Byte (pluggable) |
Ethernet” standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
1st Byte ] - ] - [ EM1_SM1 E X1 | - [ - ] - [ - [ EM1_SM1I X1 |
\ 2nd Byte | Diagnose Byte (pluggable) |
Ethernet” SAFE Bit 7 Bit 6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
—————————————————————————————— T et B
i A i - : - : - : - | EMI_SM1_FLEN |LM1_SM2_FI_ES; LM1_FI_UK : LM1_FI_SK :
Output
Ethernet” standard Bit 7 Bit 6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
\ 1st Byte | BM_ACK G | - [ - \ - [ - \ - | - \ - |
Ethernet” standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
1st Byte | LM1 ACK G [LM1 ACK ER] - ] - [ - ] - | - ] LM1 O _CL |
Ethernet” standard Bit 7 Bit6 Bit5 Bit4 Bit 3 Bit 2 Bit 1 Bit 0
\ 1st Byte \ - \ - [LM1_SM1_O_H3 B] - [ M1 SM1_OH1_B [LM1_SM1_O_H3] - [ Lmi_SM1_O H1 |
Ethernet” standard Bit7 Bit6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
1st Byte \ - \ - [LM1_SM2_O_H3 B] - [ LmM1_SM2_ O H1_B [LM1_SM2_O_H3] - [ LM1_SM2_O H1 |
Ethernet” standard Bit 7 Bit6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
\ 1st Byte [ EMI_ACK G | - - \ - [ - \ - [ - \ - |
\ 2nd Byte * | EM1_O_H4 B [EMI_O H3 B| EMI_OH2B | EM1_O_H1_B | EM1_O_H4 | EMI_OH3 | EM1_0O_H2 | EM1_O_H1 \
Ethemet” SAFE Bit7 Bit6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
""""""""""" 5 e e e |
i . ‘ . | . ‘ - - - | - ‘ LM1_FO_CL

EUCHNER GmbH + Co. KG KohlhammerstraBe 16 70771 Leinfelden-Echterdingen

Tel. +49/711/7597-0 Fax +49/711/753316 www.euchner.de info@euchner.de



	Blatt1
	Zeichenansicht7
	Zeichenansicht8


